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Solution 2: Number Labyrinth

Example (1-17) Solution

1|2|11|7 (9|6 1|2 |12{7 |9 |6
5|9|16| 4 (13| 7 5|9 16| 4 13| 7
7|6|2|5|15( 8 7|6]2]5|15| 8
14| 6| 7 |12 3 (10 14| 6| 7 |12| 3 |10
3 |10(13| 8 (11| 4 3|10/23| 8 (11| 4
12|15|10( 9 (14|17 12|15]10| 9 | 14|17

Answer: 1234567891011121314151617

These numbers are passed over at the way, when reaching 1 to 17:

1 5 9 16 2 7 6 14 3 12 15 10 13 8 11 4 17
Order No A 2 3 / s 3 7 /9 10 1 2 13 1 15 16 7
The The The /Thg//{ The The The The The The The The The The The

nymber of W number of | numbrerof | number of | number of | number of | number of | number of | number of | number of | number of | number of [ number of | number of | number of | number of
.st order | 5:th order | 9th order [16.th order| 2.nd order | 7.th order | 6.th order |14.th order | 3.rd order |12.th order|15.th order [10.th order|13.th order| 8.th order |11.th order| 4.th order |17.th order

e

Answer: 1234567891011121314151617

Solution of the puzzle:  (1-25)

112|716/ 5 |19]7 (8
10|17|23) 9 |21|13| 6 |23
15| 4 |22]117|20| 4 |18] 22
19(17|11|24| 3 |17| 8 |19
12| 917 [14|23|18|12]| 6
6|5|23/14|10| 5] 2 (23
8 (20|10|11 |19 18| 1 |17
2124|15(22|13| 4 | 4|25

The numbers on the way are respectively:
1 10 15 4 22 11 7 14 24 3 20 21 9 16 5 19 13 6 18 8 12 2 23 17

The answer to be entered with the example's logic will be 13542207161715812241922189116142110231325
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